38.

390,

40.

41.

43.

44.

da
i

a. 060x028=0.168

b. 060=039+040=x033=0336

True; Sensttivity gives the percent of people that
have a condition given the fact that they tested
positive.

True; Specificity gives the percent of people that
don’t have a condition given the fact that they
tested negative.

True; Based on the definition of specificity.

. True; Based on the definition of sensitivity.

True; Sensitivity gives the percentage of people
that have a given condition.

True; Specificity gives the percentage of people
that don’t have a given condition.

~ (0.0005)(0.95)

0.000475

- 0.000475 4+ 0.09995
_0.000475
0.100425

=2 0.00473

46.

47.

438.

40,

(0.02)(0.98)

Pr(TB|Positive) = (0.02)(0.98)+(0.98)(0.01)

B 0.0196
 0.0196+ 0.0098
00196 2

00294 3

.. 9
Pr(Cnnd.|Pﬂsmve] = T =~ 0474

. 13
Pr(Cond] Positive) = 29 = 065=65%

, o (0.05)(1)
Pr(Used|Positive) = (0.05)(1) + (0.95)(.01)

005
0.05+.0095
0.05

= sz 0.84 =84%
0.0595

(0.10)(0.88)
(0.10)(0.88) + (0.9)(0.14)
0.088

 0.088+0.126

0.088
=——=04112=41.12%
0.214

Pr(Guilt}r| Pos) =




9.

10.

11.

a. (0.20 % 0.20) + (0.15 x 0.15) + (0.25 % 0.12) + (0.30 x 0.10) + (0.10 % 0.10) = 0.1325

025x 012 _ 003 _ 12 _

= =—m 023
0.1325 0.1325 353

b. Pr(divisinn C|b1'].1'_nglml:| =

Pr(four 2-spot diejone 2-spot 1n s1x)
Pr{four 2-spot die) =< Pr (oue 2-spot 1n 5ix| four 2-spot diejl

B Pr(four 2-spot die) = Pr(ouf: 2-spot in 51'1| four 2-spot die ) + Pr(three 2-spot die)

w Pr(oue 2-spotin six| three 2-spot die|

lx.[ﬁxix{;}j

- 271776 \e

R ERC ey
(Y

(1) 0

~20.1494

Pr{cancer) = Pr (pnsitive| cancer;l

Pr{ cancer| pc}sitive} =

002075 5

= =~ 0.049
(0.02x0.75)+(0.98x030) 103

Pr{cancer) = Pr (pnsitive| cancerj] + Pr(no cancer) x Pr (pnsiti‘r.-‘e| no c:mcer]



user) x Pr  positive| user )
12. a. Pr(user|positive) = Pr(user) \p | /

Pr{user) = Pr {pﬂsiti'r.-‘e| 11531] + Pr{nonuser) Pr{_ po*;itive| uonuscr}
_ 0.10% (1—0.02)
[0.10 x (1— 0.02)] + (0.90 % 0.05)
b

143
7 0.685

(0.05)2 = 0.0025

=

_ o Pr{nonuser) « P‘r{\r twice pn*;itive|uﬂnuser']
c. Prinonuser|twice positive) = ' -

Pr{nonuser) x Pr (twic& pnsitive| nonus&r] + Pr(user) Pr{twice positive| user}
_ 090 0.0025

(090 0.0025)+[0.10% (0.98)*]

Fz 0.0229

13, a. 1-099=0.01

b. Pr (pregnant| positive}

Pr{pregnant) = Pr { pc:sitive| pre guant}
B Pr{pregnant) = Pr (pnsitivﬂ| pregnant | + Pr(not pregnant) < Pr { pusitive| not pregnant |

040 0.99 =ER: 0971

 (0.40x% 0.99)+(0.60x0.02) 34

Pr{condition) x Pr (p05| ccndition}

14. With 65% incidence, Pr(condition|pos) = — - — - .
Pr{condition) = Pr{pﬂ9|c0ndﬂ1ou] + Pr{no cond ) x Pr( p-05| no cond. |

B 0.650.90
" (0.65% 0.90) +(0.35%0.20)
7= 0.893

0.30x0.90

With 30% mcidence, Pr{condition|pos) = 0.659

e
(030 0.90) +(0.700.20)

; ) L steroids) » Pr( positive|steroids)
15 Pr{ste;mld€|puslt1w:|= Pr( ) (p | _.

Pr{steroids) = Pr{ pﬂ*;iﬁve| stemid*;] + Pr(no steroids) = Pr{_ pnsitive| no *;reroids;]

_ 0.10x0.93 2
(0.10x 0.93)+(0.90x0.02) 37

. o o Pr{condition) Pt(pnsitive| condition |
16. Prcondition|positive | = — — — — — —
' " Pr(condition) = Pr (p051t11-‘e| condition ) + Pr(no condition) x Pr{.po*;lt1ve| no cnndmon}

0.05x0.9 0.045
= . - — 0.45=45%
(0.05x0.9)+(0.95xLL)  0.04540.055




1000 People

900 People
Mo Steroids

18 People B&2 People
False Pos, Correct

10

0 People

Lise Steroids

93 People
Correct

7 People

False Meg.

.. 93
Pr(Used | Positive) =

_ 93 31

100 People

=—=—nrs 0838
93+18 111 37

6.5 People

False Neg. Correct

58.5 People

28 People

Correct

35 People

Mo Cond,

7 People

False Pos.

Pr(Condition | Positive) =

585 585
58547 655
100 People

7= 0.893

30 People

Have Cond.

3 People
False Neg.

70 People

Mo Cond.

27 People 56 Peopl

Correct Correct

e 14 People

False Pos.

Pr(Condition | Positive) =

27 27
=—r3
27414 41

0.659



